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Spring '06/MAT 145/Worksheet 2 Name: S;Euﬁ)m Show all your work.

1. (5pts) If @ is an acute angle, find the values of cost), cscf and cot @ given that sinf = %

s = l—i 3-,; _j'g/ﬂ 3 i 0
: e .z
o't 327" a=J40-l40 P e 3
4 +9=19 - 210 oo i _ ?_ﬁ_q_
= 44 il 2

2. (4pts) Use fundamental identities and complementary angles to simplify:
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3. (5pts) Find the exact value of each expression. Do not use the calenlator.
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4, (3pts) Use your calculator to evaluate (round to 4 decimals):
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5. (8pts) Without using the calculator, find the exact values of the following trigonometric
expressions. Draw the unit circle and the appropriate angle under the expression.
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6. (5pts) Ifsing = —§ and # iz in the third quadrant, find cos £, cot 8, sec f. Draw a picture.
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